00000000 (1)

(1] O0OO0O0O0O0 10000000002400kcalDO00ODOO0OO0OO0DODO0OOOOODOODODODODOOOO
o0o0ooO00oooO0oOoU0oOooooooU0ooooOOooOOoLDO (boooOo/o)oooooD 1
cal =418 J 0000

[2 DOOOOOOODODOUOOOOOOOODODOOOOODOO

[3] Maxwell 0000 (8S/0V)y = (9p/0T)y 00000000000

(av), =7 (a7), -
av ), " \ar),

[5) 000D OO0OO0ODO0O0OO0 nO0D0O0O0DODOOOOOOODO pV=nRT (pUOOOVOODOTO
O0000OROODOOO)00OO0O0O0O0OOOR =28.31J/molKO1 cal =4.18 JO0°C =273 KO
ugoo

[4) 00000000000

() DOooo0oUoO00oO0o0oUOoO0OUOo0OUDoOO U OO0 VUOOOOoooOOooooOoo

(2 DOO0O0OO0OO0OO0ODOOD0O ¢y 0OOOOOO0O ¢, 000000000000 C,=Cy+RO
goobooobooooon

(3) DOO00OO0O0O0OO0ODO0OO0OO0O0O pvVY=00 (y=C,/Cy) 00000000 0O0ODO

(4 00000 ¢y OOOUDOOOOOODOOOOOODOOOD10000ODOOO0OOOOOOO
ooo

(5) n0000000000000000000000

(6) 00000000000000000R,000000V,00%O000000000000
0000000 ASOOOO00

(7 000000000000 w0000000 pO000000 ks00000u= (prg)~ /200
0000000000000000000010000CO0000000000 »[m/sj000
000°CO 1°CO00000 Au[m/s]| 00000000000000 M(O10000000
000)0 2890000 v=1410000



